

$$(1) 0 \leq x \leq 1 \text{ のとき } x e^{x^2} \leq e \text{ より } b_n \leq e \int_0^1 (1+x)^{-n} dx$$

$$0 \leq b_n \leq e \int_0^1 (1+x)^{-n} dx \quad \text{--- (1)}$$

$$\int_0^1 (1+x)^{-n} dx = \left[ \frac{(1+x)^{-n+1}}{-n+1} \right]_0^1 = \frac{1}{1-n} - \frac{1}{1-n} = \frac{1}{1-n} \quad \text{--- (2)}$$

$$\text{(1)(2) より 挟みうちの原理より } \lim_{n \rightarrow \infty} b_n = 0$$

$$(2) n a_n = \int_0^1 \left\{ \frac{(1+x)^{-n}}{-n} \right\}' n e^{x^2} dx = \left[ -(1+x)^{-n} e^{x^2} \right]_0^1 + \int_0^1 (1+x)^{-n} \cdot e^{x^2} \cdot 2x dx$$

$$= -2^{-n} e - (-1) + 2b_n = -e \frac{1}{2^n} + 1 + 2b_n \quad \text{--- (3)}$$

$$\lim_{n \rightarrow \infty} n a_n = 1$$